Final (Compiler) Name: Grade:

1.(10%).1s the following grammar LL(1) ? Explain why ?
S—>Ab

A->a

A->B

A->¢

B->Db

B->¢

2. (10%) Rewrite the following left recursive grammar into non-recursive EBNF
grammar.
S—>Aal|b
A—>Ac|Sd|e

3.(10%) Use one example to show that the following grammar is ambiguous.

stat > if cond then stat
| if cond then stat else stat
| other-stat

4.(10%) Is the following grammar SLR(1) ?
S>> S S>(S)S S-> (*emptystring*)

5. (10%) Based on the Post-fix form of a parsing tree, transfer the following
expression into the intermediate code (quadruples, PUIETY).
R=(@*b+c)-(a*(b+c))

6. (10%) For the following grammar rules, write the related semantic rules. For
example, for the rule, type--> float, the related semantic rule is type.dtype = real.
decl--> type var-list
type-->int
type-->float
var-listi-->id, var-list,
var-list-->id

7. (10%) Given the declaration B: array[0..3, 1..6] of integer, show the corresponding
quadruples (PUTE=X), for the statement BJ[l, J] := 5. Assuming that data is stored in
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the row-major and an integer is represented in 3 bytes.

8.(10%) For the Precedence table for the following grammar, write down the parsing
steps for the input $ID+(ID+ID)$.

S>$ES$

ES>F

F>F+T

F>T

T ID

T>(E)

llo
o
v
o
v

T o> o> o>

ID o> o> o>

+
llo

<0 <0

llo

<o <0 <0 <0

) o> o> 0>

Step Parse Stack ‘ Remaining Input

1 | $ID+(ID+ID)$

9. (20%) Lab.

(@) FE(RHY yace figerh  RVEIFOU—(8 function » yace 7@ £ THIET %
ENE ?

(b) WHFARA—{E0L NUMBER [y token » {£{R] yace f&H » ZAN{A[53F yace
R il token ?

(o) FEARE yace HEZeEF » N B S A e A i 3% token (REBAVREZE 7

() # (¢) » E(F5EFE token (RIBHIREZEI (5T ?

() A —f “A>B+C” HYS0E » TEARHY yace REZE P BN EFHE 2
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